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Beam time is over

• Three SEM was tested

• Beam tunning couldn’t be done (couldn’t send decelerated beam to 
the downstream)

• 100 keV beam with pinhole was used to take data for single event at 
MCP.

• Switchward test was done by 100keV beam

• Ps + p-bar test couldn’t be managed by two problem

- p-bar beam is bent when Riken trap is on.

- Positron beam can’t pass through by mis-alignment problem 



First SEM



Second SEM at correct position



Third SEM shows mis-alignment



Decelerated beam


